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L unguugtah'—-ﬁngfnh

ark correctly the part of the sentences which has an

ror. If the sentences are correct mark ‘I’ (No error) :

The deep depression of the Bay of Bengal intensified

(A iﬁ

into a cyclone.  No error.
into & CYCIOne [NO ETTOF

-

MHI' ave heen
]

| % T
Mo error

0 SO Wal

participatio

Mark correctly the anionyr

37. obstinate

@ plizble

L) Passionals

Mark correctly the
g the blanks :
(A) wanted { bt 44. YWhen | reached the staton the tram
() \ . B} bas k=i

T

i ::-i-.

o n ]
“gEravate Lt ns wait till be liis O s
(4) appropriaie BH) appreciaie L) [-U.'I':il . ;;,:,a
' ' - *y  will fimist (d
(@ aileviate (D) admire (€) ' f




sgCTION—1I

Languag

Mark correctly the plural forms of the following words
46. oasis

(A) o0asiss @ oases

(C) oasises (D) o©assies

coal-ol-mail M}
(A} coat-of-mails ] -;u,-.:'.a-..ur-u:.ql_l
(C) -coat’s-of-mail (D} coat-of-mail’s

Mark the correct arrangement of the following words as
these would appear in the dictionary, from first to last ;
48. (i) centuple

{ii) centuplicate

(it} cemtury

{iv) cenfurion

a (i), (i), (iv), (iii)

(B (), Lo, (iv); L)

{Cy (1), (v), (i), (1)

(D (1), (i), (), (1v)

(i) graph

(if) grapery

(iil) graphie

(iv)p graphic

(AT i, i), iy )
(BY () dan gy, (i
@ (i), W, (v}, (i)
(D) (i) (e ), (1)

Mark correctly the change in gender of |
words :
§0. prosecutor
(A) [proseculnres {B) prosecutes
{§ proseculnx (D) prosecutin

abbaot
(A} abbotess @ abbess
(C)} abhotress (D) abboess

Mark the correct spelling from the options given below :
g2. @ vigilance (B) wigilence
(C) vigelance (D} vwigillence &

(&) consollidae B} consolli

3 .
=510

@k consolidate (D} consoledate

(A) seperale (B

| saperate
{C) saperete &

Separate

_5 repetitive {B) repeatitive
(C) repititive (D) repietitive

e-11—English

; i th
Mark correctly the appropriate IZH'E]'”""'”F'TiM
the blanks : dod
&6, The hotel is adjacent __ the sa®

) A | On I" 1o

(C) beside (L) upon

Nos:
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SECTION—III
Child Development & Pedagogy

English Version

A learner in your class tells lies frequently, As a

teacher, which of the following steps will you adopt

to correct her/him 7

(A} - Advise her/him not to tell a lie .
;E_'r:.f to find out the cause behind her/his telling
165

(C) Punish her'him for telling lies

(D) Callher'his parents/guardians and scold them in
the pareni-teacher meeting/guardian-teacher
meeting

In which book did Rousseau plead nature centric
education ?

i Mature and Education
ﬁ Emile
C) Educaticnal science
(D) Philosophy of educanon

Which of the following is not a cause of {orgetting 7
A change in an individual’s attitude

kﬁ Interference caused by later learning

(C) Lapse or passage of time

(D) Repressed memaories or eXperiences

The student who keeps on asking questions in the

class \
(A) should be advised to meet the teacher after the

glass

| should be encouraged to participate in classroom
discussions _
(C) should be encouraged lo find answers

independently
(D) should be encouraged to continue queslioNIng

Which of the following statements does noi suit 8

teacher ? The teacher _is

(A) Really interested 1n smfl:?n

(B) Ableto direct and discipline students
Reluctant to adapt himself to new situation

(D) Enthusiastic about his'her work

CCE stands for : : :
(A) Continuous and Comparative Evaluation
(B) Continuous and Co-operative Evaluation
(C) Continuous and Competent Evaluation
_?) Cantinuous and Comprehensive Evaluation

Heightened emotienality during late childhood may
come from :
(A) Frvironmental causes
(B) Physical causes
}ﬁ Both (A) and (B)
(D) MNone of these

M@. afxk
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Bengali Version
English Version

6N,

5 AT -
Good teaching implies -
! Possession of higher academic qualifications
Holding research work e
Having good knowledee of his subject and ability
o deliver i :
D) Strong personali y
inga class of mixed ahiin learners what will be your
sirilepy for Eroup division ?
LA} Dividing the class into different groups accarding
o thes roll-numbers .
Lhviding the class into different groups on t
RASEE ol thelr repularip, in class aftendar

Forming different groups Vil

{HY

abilitjes
rorming differen ETOUPS &y
advanced I Armers b

leamers

.'I L

Which of the .54|||;l'.':-_|-12 15 not the law of I iorndike's

[rial and Error Th ror ]
|_.'|I|

H

af 1 CAFRIng
Law of Exerci

| Law of Effect
) Law of Readiness

(D] Law of Applicatio
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Ch ginality Al
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Which one s the first agency of education ?

(A)  The primary school where ghe leam ha
and write

Home, the nigeleus of society

The authority |
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Ihe .'I_'- Way m ethod of educar; i

1EN Eoimir +
vERILLE SO 5 -

Good TL.Mm should be of

(A} High Cost and interesting
HIgR cost and relevan
Low eost and relevan

None of the aboye
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SECTION—III
Child Development & Pedagogy

English Version

76, A teacher is efficient in evaluation of his/her

students, il he/she is:
(A) Strict (B)
(C) Objective (D}

Lenient
Prompt

What will you do as a teacher, if a student does not

attend your class 7

(A} Blame that student for his absence

(B) Keep quite considering the present attitude o
that student
Think of using some interesting mMhods of
teaching

(D) Know the reasons and try to remove them

Which of the following elements is least importan
in the learning process ?

(A} Syllabus {B)
(C} Environment

Teacher

{ ]] Looperation

The modern approach of educating children with
special educational nceds is to accommodaie them
in one of the following—

(A) " Special schools < (B)
{C) Tnelusive schools (D)

Integrated schools
Mone of the above

Which of the lollowing concepts is not associated
with Piaget's theory of cognitive development ?

[A) Assimilation (B)
(C) Association (L})

Accommodation
achema

Which of the following is a general characteristic

of attention ?

(A) Itisa faculty or power of mind

(B) It cannot be centered around any object for &
long time

{C) It does not shift one to another

(D) ‘Mone of the above

Pevelopment of an individual depends upon any
two of the following four factors, Which of the pairs
is the most appropriate 7

() Heredity

(ii) Environment
(iif) Language ability
{iv} Imagination

{A) (i)and (ii)

(B) (i) and (iii)
(C) (it} and {iii)

(D} (1) and (iv)

76.

=t
(A) afe

ﬂ.} i (-
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SECTION—III
Child Development & Pedagogy

English Version

A slow learner attends your class and sits in 8 non-
responsive manner. What will you do 7 :
(A) Make your lesson very simple and spare some
extra time for himher
You do not like to spoil majority for the
individual
You pressurize the student to leave the class
(D) You will not help him/her at all

What we forget and what we remember depend o
our motives T This is called: -
LA Fxﬂﬂ't!ﬂﬂ!ikt’]ﬂﬁihl“un

(B} Emotional Amnetia

(<) MNeuragenic Amnetia

(D) Proactive Inhibition

Which of the following is not anv cha peleristic of

drive ?

(A) Itis the energy which moves the bods

By It js fpecific goal directed behavis ur of the
OTEANISM

{'f] It EENErles agprecsion in human nEfLe

(L) It 15 internal tissue conailion which releases
energy and finally leads toactiviry

'RTE Act-2009' puarantees quality education for
all children up to the age of 14 vears, Here quality
implies

(A) Useofhigh cost TLM

(B) Cramming

€} Re lating classroom 1o the real world

(D Imposad discipline

Which of the following charucteristics is not found
in & mal-adjusted chilg
{A)  Destructjve ienden
{B)  Introven tendency
3 Timidity

Dy Appreciation of others

Y Iowards man and nature

properly
Which of the lollowin
influence g child's devel
) Age of teacher
Gender of teachar
L) Academic qualification of teacher
(D} anship with the child of 5 léacher

Writing o 1 board
n rv

B aspecis of g ledcher
Upment most 7

£y I:I1.u"rmr:-r 5kille
7 - -
All of them

The nature of ehilg
{"*'::r PF:r‘-EhUJI_'IEj;aJ :
: ¥alological
12} Peycho-phveat. ..
®) Biglogrry” oAl

Complete dﬂﬂnpmcnt i
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SECTION—IV
Mathematics

English Version

Find the greatest and the least numbers of six digity
which are divisible by 27, 45, 66, 71 and 96

(A) S9TR0, 203680 (B) 998520, 203650

(C) 991020, 100680 (D) 998720, 101680
Aand Beandoa plece of work in & hours; A and €
in & hours; B and € in 3 hours
Aslonedoh ?

4

llaﬁl, l '—3 hf ”'IIII

Ini what Cime can

i b
L) 115'" "':III 12

19

...r men ‘“‘d 5!]“}1 cnn il T ||F [t} t]ipj il '-"-'l':lfl'l i
I

: ]
3 days; 4 men and B boys can do * of i g dinyn;
in what time can o lm',' do e whaole work 7
LAY 20 thivyy (1)

M1 dmys
(C) 15 1.15],-5

() Ml dave
04, ’

Arrange inorder of mugnitude (decremsing order)

27 18 145

87" 341" 428

1455818 27 118 145 27
(A} (B e

428" 341' 87 341" 428 87
27 118 145
87' 341" 428
95, Highest common factor of 361, 521, 811 is

(A T . .(B) I (Cy ® (D 17
96. Simplify

(C)

(I MWone of these

0.07 = {0.07 x0.07 4 1)
97 Simphly G507) « (0.07) x (0.07) < (007) ~1

[(0.07) » (0.07) = 0.07) % (0,07 +1)
(047) =0Tt
W 7 B 07 o

|||J|

Bengali Version

9], WHY wE v #ohTE T JEEN Al A
seeTl 27, 45, 60, 72 @ 96 W s 1
(AY 997920, 203680 (B) 998920, 23580
'.ﬂl 997920, 103680 (D) 998720, 103680
q=ft =l Aa B O § U0, AS C awu 4 w0 e
H a O 3% 9T AR T AW A @9 u*'.
s & g OO TS WA

i | 5

— ¥ | (B) Hz= 0 |
11 2

el A
t‘g [.13I e | Dy |l T oG] |
i : 19
03, 3o Sl e @ 5 O TP (e a4 w el wrew T
e 3 [T el O ST i B A
i4

i 'H"'ﬂ!‘l 7 oA T, P ey

syl ) T TN A 7 .
20 P (@ 30 A

ey 35 fara (0 40 P
g, e waicle P NIz IR o (g o cef)

17 118 145
87" 341" 428

145 118 2% 118 143 &
1827 r@ g
428 34| B7 \ 141" 4 H.I'

27 I__I_H IH

7' 341 423 P nafig copmie sm

95 361,521 49t 811 A7 MW 8 ¥
Ay 7 ﬁ' I iCy 19
06, HaW 37

L8

(L 17

0.07 x {0.07 x 0.07 +1}
(0.07) x (0.07) = (0.07) = (0.07) =1

1(0.07) % (0.07) - 0.07) ::nm-.r 4@
(ll.l]r‘."}ﬂ .'. .

97, www g




SECTION—IY

English Version

0.0 % 0.1% 0.1+ 0,00x0,00x0.0]

0.2x0.2 % 0.2+ 0.02% 0,02 % 0,02
(B) 0215 (C) 0125 (D)1

Simplify

{A) 0 512
Simplily

J-I!.!"+I!h:§!ﬂ {:4:15
|E+#Iﬁ+14:~’14 :—J.E.:-; -i

(RO (B) 0.0]
0.1 (0} |

(A)
(€}

¢ men and 8 boys can do & piece of work in 2 days;

19

4 men and 12 boys can do f; of the work in 1 dav

In what time can & man do the work ?

(A} 27 days (B) 28

days

(C) 8-

ot

-f_d.eu

% (D)

5 diays

. Tx 1000000+ — > _
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TOE000 DB00g
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(B}
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(D)
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10 4x10=<10 « 10 = 10 5 ———
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T —

— TR :
WD <10 L

10 = 10

LAY 4300002 (B) 4300.02]

(€Y 43000021 (D) 43000021
9

103, m+|——-_anm T 1000 =

t[?} 1900078 (B) B700.097
o hrl:n:!ﬂ R e
104 i ll!'ll 599 hananas to dt!-tnhu.re

P mm“ﬂ!t“‘ l:tlad: i bananas, how mg
(A) 599 my 5

108, Simplify

if & monjey
Y monkeyy
(€) 49

(D) 5o
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Bengali Version
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SECTION—IV
Vathematics

English Version
106. According to the given diagram, how many
different paths can be taken to reach from Kolkata
to Agra

Kolkuta - Agra

ARy 13 G 8 (D)

| ;
107, Simplify :,1 || :,! oy 1|
3 1|:I 2|

4|

!

Ay =
LA i (8}

108, Simplify

5
I

u“"]ﬂ'lﬁ‘ﬁhl] ~+1=;1H(.=1.|11{.uijiﬁ*~
0838 0,835 - 0.838 x 0.165 + 0165 x 0.165
(A} 067 (B) 0.138

ll:' ! :Inh (1) N'.'I'“I_ l:IE ||'|l,: I'.I|!"'L|I_'I|J.'1

- (Side AB af cyclic quadrilateral ABCD is produced
10 the polat X. IF ZXB@= 82" and ZADE = 47",
find the measure af £BAC.

A} 25} 30* (C) 315 (D). 400
In AABC, the straight line parallel to the side BC
meets AB and AC &t the points Pand Q respectively.

AP=0C; ihe leneth of AB is 12 units and the lenpth

of AQ} Is 2 units, How many uniis is the length of

co?

(LAY b umit (B 4 unit

(C) 5 unil D) 3 umit

In division process we have

(A} 0 Divisor < Remaindes

(B} 0% Remainder <Quotient

(C) 0 < Remainder < Livisor

(D) 0% Quotient < Divisor

In division process we have

(A) Dividend = Quotient + Divisor - Remainder
(B) Dividend = Divisor * Quotient - Remainder
{C)  Dividend - Remainder = Divisor = Quotient
(D) Dividend - Quotient * Divisor * Remainder

th*ﬂuj"r "'i'f'“
TS T SN J"=-

106,

‘Q‘ n (B) - (C) ‘ b

0835 0.835x 0835+ 0.165= {.I.Iﬁfi_r -!J.Ir.'r_f
0 835 0.835 — 0.835 % 0165+ 0.165x 0.165
{A) 067 (B) 0138

(C) 506 @ TCREFH (T T
\BCD 3% 596Ton AB am X g orfa e 3

I GE T

g7 /XBC = 82" a9t LADB = 47" €I¥, £BAC &7
CICRCHLE I
(AY 25° (B) 30° (@
AABC-&3 BC T Hrsaier Faeasl AB & AC T
qurEre P e () e (o ¥
AP = QC: AB-a% Tl 12 &% am AQ-a7 D% 2
a5y, CQ-0% (] 38 4FF 1
(A 6 9%% (B
(C) 5aw= (D)
wi ehefTe A g
(A} 0<TET<THE(B) 0 <59y <o
(@ 0<TmE<Ems (D) 0T <
. B #sfEre g «E:

(A) ©e =g + G — ST

(B) =y = Epe x B - S

(@) T — S0y = ST x S

(D) e — e = S X ST




SECTION—]V
Mathematicy

Benpali Version

114. [n the following numbers supply th Feuire Ty i un
50 05 o make each g multiple of 9 9 NI Fasre e o
30%4, §73%1, 6708, 836457 P '
(A) 9.2 57 (B 2249

(C) 2,9.6 7 (D)

€ missing digii T (W e W e Hrwrmfer
HTuTale ey
MR, 57301, *6708, g16vgT
2,04 SR A i
L) 2,906 7 (D) 2.2 49
(0.0036)2 .8)

v (0.0036)2 8)
(0.04)0.1 Wi.003) £ e

(0.04)(0.1 )(0,003)

[A) 640 0 (B) =40 <1 B 0. 84

116, 201 Faind 2037 o 200 (®)
(Al

Fire tho nu]nht]"l. - i g 1 P & 4 { L3} (1 na
Fiest number iy Primeand the second i« ' 4017 @ 200 e )
COmpasite il
(B) First number ;s
e
*h the numbers gre =]
Both the numbe
mitually prime
A x I.I*].I*I.I*l.l-'?'-' b
INlingg *22+3%]4 213%3 T 470
i P T I LI +3ug 70y
ARER T I B I il Ty
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SECTION—V

Environmental Science

English Version

130. Which of the following parts are connected with
digestive system of human body ?
(A} Lung Trachea (B) Hean, Artery
(C)  Stomach, Intestine (D) Kidney, Urinary bladder
I31. Which of the following diseases can be cured by
using the extract of ‘Vasaka' leaf ?
(A} Cholera (B) Tetanus
(C)  Cold and cough (D)  Malaria
132. Which of the following ‘season’ can be identified
by the song 'Darun Agnibane re" 7
{A) Winter (B}  Autumn
(C)  Summer (D) Spring
133, Which of the following animal is found in the forests
of Darfeeling *
fA) Red Panda (8) Wild Az
{C) Zebra (D) Olive Ridlev Turtle
14, Which one of the fallowing woyjd be formed jf
water vapour stcumulntes on the surface of dysi
particles ?
(A) Star (B)  Plang
(5] Calaxy ()  Cloud
135, 'Which of the following ¢
mauntain areg ?

(A) Palash, Bamynn, Teal
\B}  Mango. Jamun, Garar
€} Ok, Birch Rhododendron
(D) Garan, Banyan, Hetal
136. Which of the following snimals CAD Zuess the
Possibilitiey of ENENing rain ? '
fA) Dug (Bl Am
€} Cow (D) Hen
137, Which of the following plans contains drug ar ji
& for furing hegry disease 7
:..-ﬂ Mangg (B} Citichong
. :54"'“ 1 9 (D) Tobaccq
th one g i | :
cauising skin u'r:-:er !';lHu“.mE IS responsible o,

(A)  Mefanin

FECE Brow in high altitude

5. “iET o myaf T ofida

Bengali Version
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SECTION—V

English Version

140. Which of the following animals are critically
endangered ?
(A} Cow, Goat
(B) Goat, Sheep
(C) Pig, Horse
(D) Tiger, One-horned Rhinoceros
Arabari is famous for —
(A) Conservation of mansion
(B) Joint conservation system of forest
({C) Conservation of one-horned Rhinoceros
(D) Conservation of tiges

142. Which of the following diseases are associated with
air pollution *
(A) Malana, Cholera, Tvphoid
(B) Tetanus, Arthritis, Diabetes
(C) Diabetes, Hepatitis, Lepros)
(D) Bronchitis, Emphysema, Asthma

143. Caterpillar is
(A) Anadultinsect (B) Larval stage of insect
(C) Anadult mammal (D) Anadult bird

144. Which of the following pollutants camses soil
erosion ?
(A) Cowdung (B) " Skeleton of Fish
(Tl Plostic (B} Old Papet

145. Asateacherof Envircnmental Studies which of the

following wounld you suggest for the treatment of
Cholera s

(A} GPS (B) BRS
fCy NRS (D} ORS
146, Which of the following ¥ nof originated from skin
(AY Fur (B) Haur
(T} Blood (D) Feather
147. How can a2 metal be identified ?
{A) Repeated loud nnging sound 18 not produced if
beaten by something
(B) Does not glisten
r:L‘} Not heated very quickly
D) Sound is produced, plistens and heated vens
quickly
148. Which of the lollowing animal has become extinct
from earth ?
(A} Blackbuck (B) Olive Ridley Turtle
(C) Dodo (D) Lion tailed Mac ague
149. As a teacher of Environmental Studies vou have
shown the following pictores of animals to your
siudents. Which of them possess feather and scale 7
(A) TigerandToad (B) Toad and Earthworm
(C) Snail and Starfish (D) Pigeon and Shark
50. Which of the foliowing plants are source of
materials for making clothes 7
(A} Chatim, Bamvan (B) Eﬂfl H[mg,j
(C) Hemp, Jute (D) Chatim, Mango

31-JGB
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Environmental Science

Bengali Version

140, Sove com eftalw Wit abionmene fow ¢
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